CHECK YOUR UNDERSTANDING.

EXAMPLE 1: For the following finctions compute the derivative, f'(x)
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EXAMPLE 2: For the following fimctions compute the both iﬂ%e_}_ﬁrst and second derivative.
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E&mLE 3: For the following functions compute the derivative, f'(x)
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EXAMPLE 4: For the following finctions compute the derivative, f'(x) sz
7 x - &R
) F® =5 2 =5 WK
Py TXCsime Weasx  FETXE 917 cosx
(Sinxy &
[
b) f(x)=coz:x) Fags 4= Cosx
¢'-e¥ e
P00 = e cosx + e¥sink 9 “TE&InX
(€05 XY=
0 ) =%
== . .
= Y ? —\Jr = x '/2.
tf '~ 4 X T/
0= Wnyg -x Z:_‘zx‘)/z i Fru¥ing g'=3Ix 'z

R

(3




chﬂgc/rl CeKb:\nX'KS* 3:0?\?&32 1Qho\m
s 30x Y Inx +W 9’z 2 nx ;QL
= =30xInK + x4
EXAMPLE 5: For the following ﬁmctlons compute the both the first and second derivative.
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EXAMPLE 6: For the following finctions compute the derivative, f'(x)
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